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n Grey line: exponential fit Peak flux: 1.359+/- 0.440 c/s/cm? ]
L Black line: power law + gauss fit Fluence : 19.59+/- 4.41 c/cm? ]
- Dashed line: power law o ’ ) _
- Duration :  42.22+/- 8.81s -
L 7 Best fit model: 1. _
L \ Best fluence model: 1. ]
: Bést duration model: 1. B
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= Expon.time: 13.87+/- 3.04 s (chi*red= 1.12) 3
ST bttt g W B bl ot st b
= iy i iy Wﬂf Mﬁﬂ#ﬁwﬁﬂ*ﬁ W w%ﬂ+++WM +HﬁﬂﬂmwwﬂﬁHﬁﬁ#ﬁﬂﬂwﬂ%ﬁﬁHHﬁwﬂ ﬁwﬂﬁWﬁﬁ#Wmﬁumﬂwﬁww_&
; Power law fit é
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— Power law fit plus Gaussian (st.dev.= 15.33+/- 2.19 s, fracgs= 0.47+/- 0.13) =
- Power law index: -0.294+/- 0.532 (chi*-red= 1.12) 7
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